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1. As of January 19, 2012 during President Barack Obama’s visit to Walt Disney World, how many United States Presidents had seen themselves in the Hall of Presidents?
A. None

B. One

C. Two

D. Four

E. None of the Above

2. This ride is Disney’s largest single attraction ever created at over 100 acres in size. The entire Magic Kingdom can fit inside this one attraction!

A. Kilimanjaro Safaris in Animal Kingdom
B. Spaceship Earth in Epcot
C. Space Mountain in Magic Kingdom
D. Tower of Terror in Hollywood Studios
E. None of the Above

3. Spaceship Earth is a sphere 162 feet in diameter. It can fit completely inside The Living Seas whose building is 201 feet in diameter by 48 feet tall. Assuming that The Living Seas is an open right cylinder, find the positive difference of their volumes in cubic yards.  
A. 
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B. 
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E. None of the Above

4. The eerie piano in Disney’s Haunted Mansion which seemingly plays on its own is an original by this piano company.

A. Weber Piano Co.
B. Houston Piano Co.
C. Schomacker Piano Co.

D. Artist Piano Co.
E. None of the Above

5. 275,000 pounds of popcorn are served at Walt Disney World each year: enough for 5 million individual servings and to fill Space Mountain from floor to ceiling. How many ounces are in each serving of popcorn served in Walt Disney World if each serving is assumed to be the same size?
A. 0.30
B. 0.56
C. 0.88
D. 1.25
E. None of the Above
6. The World Showcase Promenade at Epcot Center stretches approximately how many miles? (Round to the nearest mile)

A. One

B. Five

C. Ten

D. Fifty

E. None of the Above

7. The design of Main Street, U.S.A. in Disney’s Magic Kingdom is loosely based off of Walt Disney’s hometown of Marceline, ________.

A. Missouri
B. Mississippi
C. Arkanasas
D. Alaska
E. None of the Above

8. The sixty feet tall, ninety feet wide Swiss Family Treehouse has over three-hundred thousand fabricated leaves and roots that burrow forty-two feet into the earth. Since it is man-made, Imagineers could not list it as a Banyan tree, so it is of the species Disneyodendron Eximus which means: _________.

A. Rhododendron Disney Tree
B. Disney Tree with Artificial Leaves
C. Out-of-the-Ordinary Disney Tree
D. One-in-a-Million Disney Tree 
E. None of the Above

9. Second only to the __________, Walt Disney World is the largest purchaser of explosives in the United States. There are two fireworks shows in two parks every night of the week 365 days a year, sometimes twice. As well as countless other pyrotechnics used in shows and attractions throughout the resort.
A. Microsoft
B. US Military

C. US Dept. of Agriculture
D. Intel
E. None of the Above

10. What is now considered to be the fastest ride in all of Walt Disney World?

A. Epcot’s Test Track
B. Magic Kingdom’s Splash Mountain
C. Hollywood Studio’s Rock’n’ Rollercoaster
D. Epcot’s Finding Nemo
E. None of the Above

11. Which ride in the Hollywood Studios park, is exactly 199 feet tall because if it were 200 feet, the law would require a beacon to warn airplanes?

A. Star Tours
B. The Great Movie Ride
C. Tower of Terror

D. Toy Story Mania!
E. None of the Above

12. In Walt Disney World’s Carousel of Progress, how many theaters are there?
A. None

B. One

C. Two

D. Six

E. None of the Above

13. The Port Orleans Resort in Walt Disney World has the largest capacity of any Disney hotel on property with 3,056 rooms. If the housekeeping staff can clean 3 rooms every hour, how many housekeepers must this hotel staff in order to clean all rooms every day (assuming staff works a standard 8 hour shift)?
A. 120
B. 128
C. 133
D. 142
E. None of the Above

14. There are six rows of seats in each boat for It’s a Small World in the Magic Kingdom. Each row can comfortably seat 6 people. Assuming every trip is full, how many ways can a couple sit together on It’s a Small World?

A. 5
B. 30
C. 60
D. 120
E. None of the Above

15. There are 12 parking lots for Magic Kingdom in Walt Disney World. They are named: Chip'n'Dale, Minnie, Pluto, Goofy, Daisy, Donald, Sleepy, Dopey, Happy, Grumpy, Sneezy, Bashful. What is the probability of being parked in Sleepy lot, given that the lot is a Dwarf. (Assume all lots are equal in size and likelihood of being used.)
A. 
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E. None of the Above

16. Walt Disney World covers 30,080 acres in total. The Walt Disney World Monorail System provides transportation at Walt Disney World. They operate on three routes that interconnect at the Transportation and Ticket Center (TTC), adjacent to the Magic Kingdom's parking lot. One line provides an express non-stop link from the TTC to the Magic Kingdom, while a second line provides a link from the TTC to Epcot. The third line links the TTC and the Magic Kingdom to each of the following resorts EXCEPT:
A. Contemporary
B. Polynesian
C. Grand Floridian
D. Old Key West 
E. None of the Above

17. There are eight elevators working at any time on the Twilight Zone Tower of Terror. It has thirteen stories (naturally). At any given time, how many different ways could the elevators be arranged by floor?
A. 
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E. None of the Above

18. What is not a stop of the Walt Disney World Railroad?

A. Frontierland/Adventureland

B. Mickey’s Toontown Fair/Tomorrowland

C. Liberty Square
D. Mainstreet U.S.A.

E. None of the Above

19. To create a surface on which animation can be projected, water screens pump approximately 2,400 gallons of water into the air every minute for the Fantasmic Show. How many quarts per second is that equivalent to?
A. 80
B. 120
C. 160
D. 200
E. None of the Above

20. Outside of the EPCOT pavilion Wonders of Life there is a large tower representing human DNA. How many times larger is this than an actual human DNA?
A. 5 

B. 500

C. 5000

D. 5,000,000,000

E. None of the Above

21. The name of the Python in “Honey I Shrunk the Audience” is Gigabyte. What is a gigabyte?

A. 1 billion periods per second
B. Derived unit of energy
C. A unit of information equivalent to 
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bytes
D. Of very great size or extent
E. None of the Above

22. The Walt Disney World Resort has only been closed a few times. Which of the following is NOT one of the dates/reasons the parks were closed?

A. Entire Resort in September 1999 for Hurricane Floyd

B. Magic Kingdom September 1966 for Walt Disney’s death
C. Entire Resort on September 11, 2001 due to terrorist attacks on America

D. Epcot Center on July 17, 2002 due to a power outage

E. None of the Above

23. When the Magic Kingdom first opened with 23 attractions, the cost of a seven ride coupon was $4.75. The current price of a Magic Kingdom ticket is $89.00 for all of its forty attractions. Which of the following is the closest percent inflation since the park opened assuming you would ride all forty rides?
A. 75%
B. 150%
C. 200%
D. 400%
E. None of the Above

24. Which park opened on Earth Day 1998?
A. Magic Kingdom
B. Animal Kingdom
C. Hollywood Studios
D. Epcot
E. None of the Above

25. The height requirement to ride Splash Mountain is 40 inches. Given that the height of Disney guests is normally distributed with an average height of 66 inches and a standard deviation of 13 inches, approximately what percent of Disney guests can ride Splash Mountain?
A. 99.9%
B. 99%
C. 97.5%
D. 95%
E. None of the Above

26. A person would have to be approximately __ miles tall to use Spaceship Earth as a golf ball. 

A. Two
B. Twenty
C. Two Hundred
D. Two Thousand
E. None of the Above

27. There is approximately 14.7 miles of monorail at Walt Disney World. If the maximum speed of the monorail is set at 30 miles per hour, how long would it take you to ride the entire track to the nearest minute assuming no stops?
A. 28
B. 29
C. 30
D. 34
E. None of the Above

28. How long (in feet) is the Great Movie Ride in MGM (Hollywood) Studios and what is its significance?

A. 1928 Feet (The year of Mickey Mouse’s Birthday)
B. 1989 Feet (The year Hollywood Studios opened)
C. 1966 Feet (The year Walt Disney died)
D. 1928 Feet (The year the famous Chinese Theater opened in Hollywood)

E. None of the Above

29. This structure found in Animal Kingdom is 145 feet tall. 

A. Expedition Everest
B. Tree of Life

C. Kilimanjaro Safaris
D. Rafiki’s Planet Watch
E. None of the Above

30. In the Pirates of the Carribbean ride, what is NOT one of the items the pirates were using to entice the dog to open the lock?

A. Cup

B. Bone

C. Rope

D. Treasure
E. None of the Above
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